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Puzzle 1 (Medium, difficulty rating 0.46)

| |
—[<t|m]o|o|o|w|a|=]  Blo|~|a]—|<t|w©o]|o|m|o _I-|o|—|w|w| o< Ll o< |—]| ||
o m o
w|o|~|s|N|m—|o|o] Pm|o|o|w~|ajof—s]  Slo|w|o]—|N|st|o|m|~] o<~ ©fm| o] ||
% o %
|||~ —]o|<t|m sl<t|—|©|m|o|o|—|~|w]  Slo|c|<|o|o|—]|o|—|w©w Clo|wo|olo|—| o<t |~
2 o 2
<t || oo || |—|w© 3I~=| < ||| —|m]|v|o |0 || olo[—|w] |~ 3lwo|—|o| o] —|v|wofm
E 3 E
~|o|o|m|o|tln|—|wv]  TBlo|o| || ~]|m|<t| mm489_{361_.02. Slo|n|<t|m|w|o]of~|—
£ o £
q|o|—f=[ofw]sr|o|o]  S|lo|a|mjo|o|s| (v~ Sl [w]w|s|afo|oj o] S| o|m]af—-(o] s |w] o
© 4 ©
(] © (]
o[~ <t —|w|o]o|o(a]  Sh|o| || m|o|w|ola]  Tjo|o|cfs|w—|~|ofm]  S|o|o|c|—|o|w]—|o| <
N ™ <t
ool o)<t —|wo|m]|— olo|m|<~|N|w]o|o|— olwo|~|—|m|©o|o]|o|| <+ ol=|—|w]o|a| s |o|m|w©
X X X
of—|o|afm|of—|w[<]  Flafwlojolo|—|s—[m]  Slo|s|mfai~|ofolol—]  Slt|of ol || mfo|—




